
Opti 501 Solutions 𝟏𝟏 𝟏𝟏⁄  

Problem 13) a) 𝑯𝑯(𝑥𝑥, 𝑡𝑡) = 𝐻𝐻0 cos{𝜔𝜔[𝑡𝑡 − 𝑛𝑛(𝜔𝜔)𝑥𝑥 𝑐𝑐⁄ ]} 𝒛𝒛�. 

Maxwell’s third equation: 𝜵𝜵 × 𝑬𝑬 = −𝜕𝜕𝑩𝑩 𝜕𝜕𝜕𝜕⁄        →       (𝜕𝜕𝐸𝐸𝑦𝑦 𝜕𝜕𝜕𝜕⁄ )𝒛𝒛� = −𝜇𝜇0(𝜕𝜕𝐻𝐻𝑧𝑧 𝜕𝜕𝜕𝜕⁄ )𝒛𝒛� 

 →   𝐸𝐸0[𝜔𝜔𝜔𝜔(𝜔𝜔) 𝑐𝑐⁄ ] sin{𝜔𝜔[𝑡𝑡 − 𝑛𝑛(𝜔𝜔)𝑥𝑥 𝑐𝑐⁄ ]} = 𝜇𝜇0𝐻𝐻0𝜔𝜔 sin{𝜔𝜔[𝑡𝑡 − 𝑛𝑛(𝜔𝜔)𝑥𝑥 𝑐𝑐⁄ ]} 

 →   𝐻𝐻0 = 𝑛𝑛(𝜔𝜔)𝐸𝐸0 𝜇𝜇0𝑐𝑐⁄ = 𝑛𝑛(𝜔𝜔)𝐸𝐸0 𝑍𝑍0⁄ . 

b) 𝑺𝑺(𝑥𝑥, 𝑡𝑡) = 𝑬𝑬(𝑥𝑥, 𝑡𝑡) × 𝑯𝑯(𝑥𝑥, 𝑡𝑡) = 𝐸𝐸0𝐻𝐻0 cos2{𝜔𝜔[𝑡𝑡 − 𝑛𝑛(𝜔𝜔)𝑥𝑥 𝑐𝑐⁄ ]} 𝒙𝒙� 

 →     〈𝑺𝑺(𝑥𝑥, 𝑡𝑡)〉 = 𝐸𝐸0𝐻𝐻0〈cos2{𝜔𝜔[𝑡𝑡 − 𝑛𝑛(𝜔𝜔)𝑥𝑥 𝑐𝑐⁄ ]}〉𝒙𝒙� = [𝑛𝑛(𝜔𝜔) 2𝑍𝑍0⁄ ]𝐸𝐸02𝒙𝒙�. 

c) 𝑬𝑬1(𝑥𝑥, 𝑡𝑡) + 𝑬𝑬2(𝑥𝑥, 𝑡𝑡) = 𝐸𝐸0{cos{𝜔𝜔[𝑡𝑡 − 𝑛𝑛(𝜔𝜔)𝑥𝑥 𝑐𝑐⁄ ]} + cos{𝜔𝜔′[𝑡𝑡 − 𝑛𝑛(𝜔𝜔′)𝑥𝑥 𝑐𝑐⁄ ]}}𝒚𝒚� 

 = 2𝐸𝐸0 cos ��𝜔𝜔 + 𝜔𝜔′

2
� 𝑡𝑡 − �𝜔𝜔𝜔𝜔(𝜔𝜔) + 𝜔𝜔′𝑛𝑛(𝜔𝜔′)�𝑥𝑥

2𝑐𝑐
� cos ��𝜔𝜔

′− 𝜔𝜔
2

� 𝑡𝑡 − �𝜔𝜔′𝑛𝑛(𝜔𝜔′) − 𝜔𝜔𝜔𝜔(𝜔𝜔)�𝑥𝑥
2𝑐𝑐

� 𝒚𝒚� 

 ≅ 2𝐸𝐸0 cos{𝜔𝜔𝑐𝑐[𝑡𝑡 − 𝑛𝑛(𝜔𝜔𝑐𝑐)𝑥𝑥 𝑐𝑐⁄ ]} cos �½∆𝜔𝜔 �𝑡𝑡 − 𝜔𝜔′𝑛𝑛(𝜔𝜔′) − 𝜔𝜔𝜔𝜔(𝜔𝜔)
𝜔𝜔′− 𝜔𝜔

(𝑥𝑥 𝑐𝑐⁄ )�� 𝒚𝒚�. 

 carrier: envelope: 
 phase velocity = 𝑐𝑐 𝑛𝑛(𝜔𝜔𝑐𝑐)⁄  group velocity = 𝑐𝑐

d[𝜔𝜔𝜔𝜔(𝜔𝜔)] d𝜔𝜔⁄ |𝜔𝜔=𝜔𝜔𝑐𝑐
 

Here, d[𝜔𝜔𝜔𝜔(𝜔𝜔)] d𝜔𝜔⁄ |𝜔𝜔=𝜔𝜔𝑐𝑐 = 𝑛𝑛(𝜔𝜔𝑐𝑐) + 𝜔𝜔𝑐𝑐𝑛𝑛′(𝜔𝜔𝑐𝑐), where the derivative 𝑛𝑛′ of the refractive 
index 𝑛𝑛 is evaluated at the center frequency 𝜔𝜔𝑐𝑐. 
 


